

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.



WOASIS	Jump to: PRCUID 🏦 😡 🐼 Home 🌽 Personalize 🐼 Accessibility 🛜 App Help 🌾 About
Velcome, Robert M Ross	Procurement Budgeting Accounts Receivable Accounts Payable
Solicitation Response(SR) Dept: 0432 ID: ESR0525220000007464 Ver.: 1 Function: New Phase: Final Modified by batch , 05/25/2022	
Header () 2	
	🗮 List View
General Information Contact Default Values Discount Document Information Clarification Request	
Procurement Folder: 1037832	SO Doc Code: CRFQ
Procurement Type: Central Master Agreement	SO Dept: 0432
Vendor ID: 000000118388 💁	SO Doc ID: DCH2200000012
Legal Name: EMERGENT LLC	Published Date: 5/19/22
Alias/DBA:	Close Date: 5/25/22
Total Bid: \$32,417.00	Close Time: 13:30
Response Date: 05/25/2022	Status: Closed
Response Time: 13:28	Solicitation Description: Addendum No. 1 - Adobe Software Licenses
Responded By User ID: Emergent360	Total of Header Attachments: 2
First Name: Paul	Total of All Attachments: 2
Last Name: Kohler	
Email: registration@emergent36	
Phone: 703-288-4556	



Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia **Solicitation Response**

Proc Folder:	1037832				
Solicitation Description:	Addendum No. 1	Addendum No. 1 - Adobe Software Licenses			
Proc Type:	Central Master A	Central Master Agreement			
Solicitation Closes		Solicitation Response	Version		
2022-05-25 13:30		SR 0432 ESR05252200000007464	1		

VENDOR					
000000118388 EMERGENT LLC					
Solicitation Number:	CRFQ 0432 DCH2200000012				
Total Bid:	32417	Response Date:	2022-05-25	Response Time:	13:28:26
Comments:	Discounts factored into total bid.				

FOR INFORMATION CONTACT THE BUYER Toby L Welch (304) 558-8802 toby.l.welch@wv.gov

Vendor

Signature X

FEIN#

DATE

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Adobe Software Licens	ses	1.00000	LS	32417.000000	32417.00
Comm	Code	Manufacturer		Specifica	ation	Model #
43232 [,]	112					
Comm	I F	Hello Toby, hope you're well. Please note, the Adot /IP account. Emergent has repson				request vs. what is listed on your existin
	-	Thank you,				

Vendor must enter the total amount of bid from Exhibit A Pricing page. Vendor must fill out Exhibit A in its entirety and submit Exhibit A pricing page with their bid



Page 1 of 2

QUOTE

Virginia Beach, VA 23462					uote#: 6	1144
Morgan Pea mpearce@e	es Rep Info: gan Pearce earce@emergent360.com ce: (757) 969-2900 :		Customer Info: West Virginia Division of Culture and Hi Holli Vanater Holli.M.Vanater@wv.gov (304) 558-0220 Ext. 1		Date 5/13/2022 Expiration 5/30/2022	
CLIN	P/N	Item Desc	ription	Qty	Rate	Ext. Price
		Current Licens	e Holdings for Renewal:			
1	65304042BC0 3B12	Subscription R	for teams All Apps ALL Multiple Platforms enewal Monthly 1 User Level 3 50 - 99 1 VIP (VIP Enroll. ID Required)-12 Month Term 3B12	14	909.00	12,726.0
2	65304050BC0 3B12	Renewal Month	ams ALL Multiple Platforms Subscription hly 1 User Level 3 50 - 99 1 Month Level 3 ll. ID Required)-12 Month Term 3B12	1	387.00	387.0
3	65304041BC0 3B12	Renewal Month	teams ALL Multiple Platforms Subscription hly 1 User Level 3 50 - 99 1 Month Level 3 ll. ID Required)-12 Month Term 3B12	6	385.00	2,310.0
4	65304054BC0 3B12	Subscription R		2	387.00	774.0
5	65297935BC0 3A12		1 months*	11	155.00	1,705.0
6	65304043BC0 3B12	Subscription N		9	835.00	7,515.0
7	65304040BC0 3B12	New Monthly		15	350.00	5,250.0



QUOTE

Г

/irginia Beach, VA 23462			Quote#: 61144		
CLIN P/N	Item Description	Qty	Rate	e	Ext. Price
8 65304051BC0 3B12	InDesign for teams ALL Multiple Platforms Subscription New Monthly 1 User Level 3 50 - 99 1 Month Level 3 VIP (VIP Enroll. ID Required)-12 Month Term *Prorated for 11 months* Adobe Inc. 65304051BC03B12 VIP: B396BA745D2470994BBA - Anniversary: 5/3/22 See terms.		5	350.00	1,750.00
Terms & Conditions:		Total			\$32,417.00

The Terms and Conditions of Emergent, LLC's GSA Schedule Number GS-35F-0119W apply.

This quotation is an estimate and is an invitation for you to offer to purchase products and services from Emergent. The total price of this estimate does not include tax. If applicable, sales tax will be applied at the time of purchase. By confirming, referencing, or placing an order based on this quote, you are agreeing that the software products being purchased are for download only and there is no transfer of tangible personal property. Your order is subject to Emergent's acceptance and to software licensing terms and conditions per reference to an existing license/contract or a newly executed license accompanying your order.

EXHIBIT A - PRICING PAGE

Adobe Software License Renewals and Open End Pricing for New Licenses									
Unit Cost									
Contract Item Number	Description	Quantity*	Year One	Optional - Year Two	Optional - Year Three	u Optional - Year Four	Extended Cost		
3.1.1	Full Adobe Suite Adobe Creative Cloud/ All Apps, or equal (Initial License)	18	Emergent Quote # 61144 for pricing				#VALUE!		
3.1.2	Adobe Photoshop Creative Cloudfor Multiple Platforms, or equal (Initial License)	6	conditions of Emergent Quote # 61144				#VALUE!		
3.1.3	Adobe Rush for Multiple Platforms, or equal (Initial License)	2					\$0.00		
3.1.4	InDesign, or equal (Initial License)	1					\$0.00		
3.1.5	Adobe Acrobat Pro DC (Initial License)	6					\$0.00		
3.1.1	Full Adobe Suite Adobe Creative Cloud/ All Apps, or equal (New Licenses)	5*					\$0.00		
3.1.2	Adobe Photoshop Creative Cloudfor Multiple Platforms, or equal (New Licenses)	10*					\$0.00		
3.1.3	Adobe Photoshop Creative Cloudfor Multiple Platforms, or equal (New Licenses)	5*					\$0.00		
3.1.4	InDesign, or equal (New Licenses)	5*					\$0.00		
3.1.5	Adobe Acrobat Pro DC (New Licenses)	5*					\$0.00		
	· · · · ·		<u> </u>		TOTAL AMOL	INT OF BID \rightarrow	#VALUE!		

* Quantity listed for new licenses is an estimated purchase volume. The estimated purchase volume for new licenses represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Optional - Year Two through Year Four may be renewed by Change Order upon mutual agreement between the Vendor and Agency.

Vendor Signature